Which common output indicators can be chosen as basisfor target
setting for each common result indicator ?

The SFC has a drop-down menu that filters automatically the common output indicators to be used as basis. The
genera rules for the drop-down menu are as follows:

i) Only common output indicators which are relevant to the common result indicator are displayed. For
example, this excludes:

¢ "employed” for the result indicators addressing unemployed/inactive

¢ "unemployed" and "inactive" for the result indicator related to improved labour market
Situation

e "below 25 years of age" for the result indicator targeting people aged over 54.

i) Only one common output indicator can be selected for each common result indicator (for instance,
selecting both "unemployed” and "inactive" is not possible). This implies that if you want to set a result
indicator that takes as reference population both unemployed and inactive participants you should set up a
new programme-specific result indicator.

iii) No common output indicator can be related to the common result indicators related to disadvantaged
people.
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